H & 0l & AHS B Ml A

7 2 2420 (L 21 ZH ORI D)
=2t (Erol &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
L OIEHOH O 1t 107,601,949 102,028,249 5,573,700
= 56,303,966
| 115,495
& 10,194,309
Al 40,988,179
Y 2H A (L= oIF0HlI D) 22,730 22,730 0
Jl2&l 22,730 22,730 0
J|=2Z&| 22,730 22,730 0
201 Ler23| 7,115 7,115 0
01 AtR2elt] 7,115 7,115 0
Ogpt4gH) 3,580
—JIZAR S| 30,0002 x362 1,080
—gexx oA P
20,0003 58 100
A28 28 7¢ 80,0002 x12& 960
— A2 =AY 70,0002 x12& 840
—E A== 10,0003 x5+ 122 600
OJI=2dRFE 2| 3,535,000& 3,535
202 0441 7,755 7,755
01 =2LHOd ] 7,755 7,755
OJ282Fa ol 7,755,000& 7,755
203 R &I 6,660 6,660
03 A FRIHRFAIY| 1,500 1,500
OAIBI ST 2(Z0Ql, ol SXIAIE, =01
X2 g42) =& 1,500,000& 1,500
M EAN2IHRFA| 5,160 5,160 0
ORN2IURFAI 5,160,000& 5,160
204 MM AH| 1,200 1,200
01 MM Z R+ AL| 1,200 1,200
Ot 1,200,000& 1,200
[E=INEXS] 78,191,287 76,704,422 1,486,865
= 44,847,823
| 115,495
T 6,665,676
Al 26,562,293
SHE X2 67,969,837 65,880,196 2,089,641
= 44,477,416
J| 115,495
= 5,124,315
Al 18,252,611
Lolgxtel & AZE S SH(KIXNES) 10,511,060 10,847,540 A\336,480
= 4,985,314
T 1,495,594




FA I OoNel 1t
M Lol=XEX
ool 48 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,030,152
101 @1A4H| 2,895,592 3,001,846 106,254
= 1,374,046
= 412,686
Al 1,108,860
MU IIRIMZZENSES 2,8%,592 3,001,846 A106,2%4
Ol el At 12|, MR E=s S
2,895,592,000& 2,895,592
= 1,374,046
= 412,686
Al 1,108,860
201 eer23y| 6,000 6,000 0
= 2,844
= 852
Al 2,304
01 At2teltl 6,000 6,000 0
Ol ie|AtY S, MRES S
6,000,000& 6,000
= 2,844
S 852
Al 2,304
202 04t 7,000 7,000 0
= 3,318
S 9%
Al 2,688
01 2LHoIH 7,000 7,000 0
Ol Xtel At =& 0]
7,000,000 7,000
= 3,318
== 9%
Al 2,688
206 MH=Hl 60,000 60,000 0
= 28,440
< 8,520
Al 23,040
01 MHZHI 60,000 60,000 0
OelgReIMg 422X S 7Y
60,000,000& 60,000
= 28,440
[ 8,520
Al 23,040
301 LEtE NS 19,000 19,000 0
= 9,006
[ 2,698




FA I OoNel 1t
M Lol=XEX
=?Hel =48 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 7,296
11 EAAHIXIRES 19,000 19,000 0
COIUTIZIAMG THAXE DS S BABA
= 19,000,0002 19,000
= 9,006
= 2,698
Al 7,296
308 AXIHMSOIA 7,523,468 7,417,214 106,254
= 3,567,660
= 1,069,844
Al 2,885,964
11 S| 2S04 ASAIE 7,523,468 7,417,214 106,254
O ReIAY BlZb=l|2t 2
7,523,468,000& 7,523,468
= 3,567,660
= 1,069,844
Al 2,885,964
Lolgntel XI&JIZ(AILINEY) 22 336,480 0 336,480
s 100,944
Al 235,536
307 @I2t01 & 336,480 0 336,480
[ 100,944
Al 235,536
05 2ItRIE = 336,480 0 336,480
OAILIZ2E 24| 330,000,000 330,000
= 99,000
Al 231,000
OANLIOIZE BARt SE4g
90,0002 x6E * 122 6,480
=S 1,944
Al 4,536
J=¢s KNS (XAHEX) 53,577,046 51,708,836 1,868,210
= 37,503,932
=S 3,214,622
Al 12,858,492
301 2N = 53,577,046 51,708,836 1,868,210
= 37,503,932
= 3,214,622
Al 12,858,492
01 Al EE AT S (2 RDEXA) 53,577,046 51,708,836 1,868,210
OJl=gs K& 53,577,046,000& 53,577,046
= 37,503,932
= 3,214,622
Al 12,858,492




FA I OoNel 1t
M Lol=XEX
ool 48 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
J2AlE RE2s4 NE A 384,983 325,350 59,633
Jl 115,495
Al 269,488
307 el2to| & 384,983 325,350 59,633
) 115,49
Al 269,488
10 AlISAAZEE 22X 384,983 325,350 59,633
OFRAY 2224 2% X
384,983,000 384,983
Jl 115,495
Al 269,488
MAS HAS=E Il AAIE At 113,000 50,625 62,375
= 28,250
Al 84,750
307 elztol & 113,000 50,625 62,375
= 28,250
Al 84,750
10 AlISXAAZEHE 22X 113,000 50,625 62,375
ORAS HSESH WIHcol AABIZ A
113,000,000& 113,000
== 28,250
Al 84,750
Lol HelgE2d)| XA 4,200 4,200 0
= 1,260
Al 2,940
402 2I”F X201 & 4,200 4,200 0
= 1,260
Al 2,940
02 QI X2 AL E R (01X THE) 4,200 4,200 0
Okol dels2d)| XA
4,200,000 4,200
== 1,260
Al 2,940
EZAE £ AR2HTI| A 21,200 21,200 0
301 LEIE NS 21,200 21,200 0
02 MBI 2HHSFHS(HAANS, XLHE) 21,200 0 21,200
OE2AMs Lol A=RATI| M (HLSR)
21,200,000& 21,200
oed X&golet =29 19,800 14,400 5,400
= 5,940
Al 13,860
301 EetE NS 19,800 14,400 5,400
== 5,940
Al 13,860




FA I OoNel 1t
M Lol=|=A
Chel: =SM4E T (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 19,800 0 19,800
OonzdXZoIe Z2Aliel =23 NE S
30,000%55& 12 19,800
= 5,940
Al 13,860
SHCER SSHTAMMHIAAG (EX) 270,848 272,135 N1,287
= 128,816
= 38,645
Al 103,387
101 @12A4H| 121,326 128,183 6,857
= 54,055
= 16,217
Al 51,054
03 SR (RINAHA) 222+ 40,814 38,224 2,590
OS2 (BLE) 22|
2,300,000% 18«12 27,600
= 13,800
== 4,140
Al 9,660
OSZTHLL(TLH) 2B+
13,214,000 13,214
04 JIZtN2 2N S 2+ 80,512 89,959 9,447
OS2I OIZHM) el2t|
66,619,480 66,620
= 33,310
= 9,992
Al 23,318
OSS22ULQAOIZHH) HAXt==E
76,9602 102 +3H 2,309
= 1,154
=S 347
Al 808
OS=s2cE EH= 9,182,320& 9,183
= 4,591
=S 1,378
Al 3,214
OS=2cIQd 20
10,0003 » 102 x2H 1201 2 2,400
= 1,200
s 360
Al 840
201 Ler23 | 142,920 138,229 4,691
= 71,460
s 21,438
Al 50,022
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SA: SOIEOfOI It
M Lol=XEX
ol LE:ME T2 (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 2,167
= 650
Al 1,518
Lot E=ESMEIAAIE 2,570,503 2,465,040 105,463
= 1,757,352
& 225,945
Al 587,206
101 Q124d| 2,369,837 2,323,970 45,867
= 1,616,885
& 207,886
Al 545,066
03 2RE(RI|H) 2284 326,400 337,372 N10,972
OXEAISIEXIAF CI24HI S
266,400,000 266,400
= 186,480
& 23,976
Al 55,944
OXEASISXIAF 2ESE
60,000,000& 60,000
04 JItHNI22XsEES 2,043,437 1,986,598 56,839
OMET|AAI 01HH| & B8= S
1,959,437,000 1,959,437
= 1,371,605
< 176,350
Al 411,482
OMEXI2AAN EEEsE
70,0002 *100 = 1200 & 84,000
= 58,800
= 7,560
Al 17,640
201 LBt AH| 14,675 14,675 0
= 10,273
< 1,320
Al 3,082
01 AFR2teltl 10,300 10,300 0
OJIE IREE L E2EE
10,000,000 10,000
= 7,000
< 900
Al 2,100
OLQIStESE=SEEH AIAE =2
25,0002 x120H& 300
= 210
= 27
Al 63




FA I OoNel 1t
M Lol=XEX
=?Hel =48 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
02 S5=g4l 4,375 4,375 0
OSARH o & 2 (BtH=Ata S XIS E)
1258 %35,000& 4,375
= 3,063
< 393
Al 919
202 04l 14,960 15,000 A0
= 10,472
[ 1,346
Al 3,142
01 =LHO LI 14,960 15,000 240
OLQIRESSHYIA 7 DR(E)FA
KHI(S2A) 2,000,000 2,000
= 1,400
& 180
Al 420
OFSABISRIA ZLHGHHI (B2 E
180,000 «6ZH* 1200 & 12,960
= 9,072
< 1,166
Al 2,722
206 =4I 50,000 32,798 17,202
= 35,000
< 4,500
Al 10,500
ED 50,000 2,798 17,202
OLOINESSAHIA (BN, HE2Y
S) MZHl 50,000,000& = 14! 50,000
= 35,000
& 4,500
Al 10,500
301 LtENZ 70,591 48,157 22,434
= 49,414
< 6,353
Al 14,824
01 Al EEAGZ2(ZDEZME) 19,000 17,000 2,000
OoIEss ekt 2= & =5 N2l
19,000,000 19,000
= 13,300
== 1,710
Al 3,990
11 HAIMHIXI R = 51,591 31,157 20,434
OLQIRBESSHHIA (NERY U 2518
S)MEH 8 X 51,591,000 51,591




2A:

M Lol=N|Ea
ool 48 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 36,114
=S 4,643
Al 10,834
WM HsEE=S 50,240 30,240 20,000
= 35,168
= 4,522
Al 10,550
0 Z2E(DI|HL) 22N BEEESRLS S 50,240 7,920 42,320
O22x PEz 23S
50,240,000 50,240
= 35,168
= 4,522
Al 10,550
307 212+01& 200 200 0
= 140
= 18
Al 42
06 28= 200 200 0
OLUYESZHLIA 22 BT P8 S
200,000& 200
= 140
= 18
Al 42
LoIE=ESE3 AdlA K& 145,717 145,870 153
= 102,002
= 13,115
Al 30,600
101 @12A4H| 93,767 84,240 9,527
= 65,637
= 8,439
Al 19,691
MU IIRINZZENSES 93,767 84,240 9,527
OSSHEEARISAIAL 212H] & 288 S
92,087,000& 92,087
= 64,461
= 8,288
Al 19,338
OSstEEAZISXN E8ES =Y
70,0002 x 1204 2 +2d 1,680
= 1,176
= 151
Al 353
201 er2 3| 21,400 17,800 3,600
= 14,980




FA I OoNel 1t
M Lol=XEX
ool 48 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,926
Al 4,494
01 At2tltl 17,400 14,400 3,000
OSst =208 gk Xt
14,400,000& 14,400
= 10,080
< 1,29
Al 3,024
0823 s ¥ 3,000,000& 3,000
= 2,100
[ 270
Al 630
2 35234l 4,000 3,400 600
Oxtgr FAll 4,000,000& 4,000
= 2,800
< 360
Al 840
206 M=l 8,800 17,940 29,140
= 6,160
[ 792
Al 1,848
01 MHZHI 8,800 17,940 N9,140
OSstMbIA(DIE, 82, J0)MHZH
8,800,000& 14| 8,800
= 6,160
< 792
Al 1,848
301 EtE NS 18,500 24,890 26,390
= 12,950
== 1,666
Al 3,884
01 AR 2EHSHS(RDNEXRTH) 4,000 12,390 28,390
OAldlg=23 718 S 4,000,000 4,000
= 2,800
=S 360
Al 840
11 AALEEIXIE S 7,940 4,500 3,440
OSsZ2 g 2 (2AlHl S)XIE
7,940,000+ 14 7,940
= 5,558
== 716
Al 1,666
14 JIEt2d=3 6,560 8,000 21,440




FA I OoNel 1t
M Lol=XEX
ool 48 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSstEz g (82, D=, 202 A
80,0003 «6& EF+63|+2dH 5,760
= 4,032
[ 518
Al 1,210
OSsiZ203 ALEz|(HAZAL BS
bl S) 10,0003 2 +403] 800
= 560
= 72
Al 168
307 elztol & 3,250 1,000 2,250
= 2,275
== 292
Al 683
01 22X+ 2H| 3,150 900 2,250
Odt & Fof| 36,0003 x45H +23] 3,150
= 2,205
== 283
Al 662
06 2= 100 100 0
OZEZ0g 29 WX 28
2,0003 %50 100
= 70
[ 9
Al 21
08 22 013 e g4 8X HME AdlA X 15,000 15,000
201 Ler23| 15,000 15,000
01 At2teltl 15,000 15,000
OZy Bl N& =2
150,000 100 15,000
L2 fordg XA 2,450,446 2,256,204 194,152
= 342,027
= 221,313
Al 1,887,106
col AL X1 175,460 175,460
201 er=23y| 47,960 47,960
03 A= I 47,960 47,960
ONHO0IE AL Xt PRtz
400, 0002 =50CH 20,000
Ootolg &AL 2228 M 960
—SHSE g% M
80,0002 * 127K 960
ooldore UL 27,000,000 27,000
202 04| 1,000 1,000 0




2A:

LS
H: Lo=XSA
Cel: == ordE KA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 =LHol 1,000 1,000 0
OLoIe 2 1K L MOILH &4
1,000,0002! 1,000
301 YEHEHZ 126,500 126,500
11 BALAHIXI 23 126,500 126,500
Oolbiolg AN BAX a3 126,500
— S| 8,000& *11,500% 92,000
—2AlH| 3,000 % 11,500 34,500
2 294 563,740 545,780 17,960
-3 101,059
Al 462,681
307 2I2t0IA 563,740 545,780 17,960
& 101,059
Al 462,681
EEE 20,000 20,000 0
OF2Y HALEIIUH X
20,000,000 20,000
10 A=A LY ™ 282X 543,740 525,780 17,960
OZ2g 29 1 523,940,000 523,940
=3 101,059
Al 422,881
OZ2g 22 20Imol 0/823 X
30,0002 +557* 128} 19,800
ARG ey o ¢=H| X 787,482 787,650 A168
2 342,027
= 102,608
Al 342,847
201 Yer2| 11,550 9,960 1,590
2 5,775
-3 1,782
Al 4,043
01 Al 22|t 11,550 9,960 1,590
OZ2YI LT iy 11,550,000&! 11,550
2 5,775
=3 1,782
Al 4,043
301 YEHEES 172,722 189,090 116,368
2 34,647
=3 10,394
Al 127,681
01 ARSI 2R SB(F DS EHS) 172,722 189,090 116,368
OZzgryeaz AUl 172,722,008 172,722
2 34,647




2A:

=
M Lol==A
Cel: == ordE KA (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 10,3%
Al 127,681
307 212t01™ 603,210 588,600 14,610
= 301,605
= 90,482
Al 211,123
10 MEISXAIEHE2EHIEX 603,210 588,600 14,610
Ogdzg tedl X 528,000,000 528,000
= 264,000
S 79,200
Al 184,800
Ozdzg dgdl X 75,210,000 75,210
= 37,605
S 11,282
Al 26,323
2 AE |1 & =5 596,380 563,700 32,680
201 L2 6,900 6,900 0
01 AtR2te|bl 3,300 3,300 0
Ogdzg gdst Jd 28 228 7¢
60,0002 +65 360
OARY YL =X 3|
2,940,000& 2,940
02 S22l 3,600 3,600 0
OZd Z2E 52| 49l € HIIMER
3,600,000 3,600
401 Al HIZ 2018 339,480 306,800 32,680
01 AlZH| 339,480 305,000 34,480
Odzg sFMAE 339,480
—Z2ESAAZMNL (AN wH)
3,000,000 *307H 2~ 90,000
—d2Y FSAIEMHA
4,000,000 * 1070 2~ 40,000
—Z2E Y=SA
4,000,000 *100H 2~ 40,000
—Z2E THIEE WMSA
3,000,000 *307H 2~ 90,000
—d2E A2 E=3AM
2,000,000 *200H 2~ 40,000
—d=2< oA M=
120,000 *3290H 2 39,480
402 SIZERHE01 M 250,000 150,000 100,000
01 RIENSA S E X (XM THR) 250,000 150,000 100,000
O3z2g =3XNE AL 100,000,000 100,000
Ogdzg 2H(ag)lz 28
2,000,000 *507HK 100,000




FA I OoNel 1t
M Lol=XEX
oD == oordg X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ24 SJ188J| 26 uHl
100,000 *500H 50,000
42" ssHYE 29 3,500 3,500 0
= 1,050
Al 2,450
402 2I2F X201 & 3,500 3,500 0
== 1,050
Al 2,450
02 QI EASEX(0IETHR) 3,500 3,500 0
OZz2d ssHEY 2 3,500,000& 3,500
< 1,050
Al 2,450
tiet=Qlal X3l At 22X 323,884 180,204 143,680
= 16,596
Al 307,288
301 EtE NS 23,170 19,440 3,730
02 ANRI2HHSFS(HAAS, XNLHE) 23,170 0 23,170
OokolE 25 70,0002 3314 23,170
307 212+01& 300,714 160,764 139,950
[ 16,596
Al 284,118
10 AlRISTIAIEEE 22X 127,414 97,264 30,150
O(%) =23 2435 XA
42,264,000 42,264
= 10,566
Al 31,698
O(&R)Z2Y =3Z=208 AlZ2telXt thX
At 30, 150,000& 30,150
== 6,030
Al 24,120
OkelglXla 2] 55,000,000 55,000
11 AMEISXAEEXS 173,300 63,500 109,800
OLQl3X3a JA(3E) HE3
4,500,000 4,500
O 0I3IXa] SASXIZ (IO B IR A
&) 8,000,000& 8,000
okelma(is)e2g 13,000,000 13,000
OQlo] & JISlAL =&IH|
10,000,000 10,000
O35l d AU WFAY
7,000,000& 7,000

OUe ol LS (AHIIES!, SH=
| 5,000,000& 5,000

=T 2t K& 3,000,000 3,000
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FA I OoNel 1t
M Lol=XEX
el SeISXAIE 25 2 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooalg=d s+ 100,000& « 12& 1,200
2 s5=34l 55,796 65,040 N9, 244
O&Il AIBZE 2,000,0002 *12& 24,000
Ogol== AIE= 550,000& * 122 6,600
OdzHI(F2AE S)
1,000,000& «12& 12,000
o= Lo 89
363,000 * 122 4,3%
Od=s & AldE FAlZ&clt]
5,000,000 5,000
Oogel 2teltl 320,000 * 122 3,840
206 Tl 84,176 63,500 20,676
IEET 84,176 63,500 20,676
OBzAY 24 79
2, 7003 x 1202 +249 80,676
OLelZst (e s T2 (HAIE) 2Y
=l 5,000 x3502H *23] 3,500
301 22N = 54,900 50,100 4,800
11 AALAEIXIE S 6,000 6,000 0
ORESAR D o 243
8,0002 %100 +23] 1,600
Okel=zsist 2 2 SIME
11,0002 x2002 #2353 4,400
14 JIEt2as 48,900 44,100 4,800
OLlZ3tist T2 )8 2AlHI
60,0002 x 10 682 40,800
O SA 34|
30,0002 *30 +03] 8,100
Sotcel=sX2 29 646,800 628,660 18,140
= 12,490
Al 634,310
307 gl2to| & 646,800 628,660 18,140
=S 12,490
Al 634,310
05 eit?(& = 610,800 596,800 14,000
OositceI=X2 23 600,000,000 600,000
OSSO A=K 2B S
0,000 10 * 122 10,800
= 3,240
Al 7,560
1 AMEISXAIEEXS 36,000 31,860 4,140
cosXa 2278 X
31,000,000& 31,000
== 7,750
Al 23,250




FA I OoNel 1t
M Lol=XEX
&t LI=SIAE &FE 2 2F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlLIoig&Ed 249 5,000,000& 5,000
= 1,500
Al 3,500
LNAEY =29 4,271,670 4,271,670 0
=S 1,188,628
Al 3,083,042
301 EtE NS 4,271,670 4,271,670 0
< 1,188,628
Al 3,083,042
02 MBI 2HHSFHS(FHAANS, KLHE) 4,271,670 0 4,271,670
OL=XIAE(4) 23
1,671,473,000& 1,671,473
= 668,589
Al 1,002,884
OLQI=XIAIE (T 22|
2,600, 197,000 2,600,197
s 520,039
Al 2,080,158
COIRAAIE BSAA SEH 522,800 157,800 365,000
S 47,340
Al 475,460
307 elztol & 522,800 157,800 365,000
= 47,340
Al 475,460
11 AMEISXAIEEXS 522,800 157,800 365,000
O(&H|) LRIQAAIE SAL S
157,800,000 157,800
=S 47,340
Al 110,460
OC(AIHl) =QIF0, THILAIE BAHX S
g 365,000,000 365,000
CRIQAANLEES(IISEL) At 56,760 0 56,760
= 28,380
< 14,190
Al 14,190
402 QI2F X201 & 56,760 0 56,760
= 28,380
== 14,190
Al 14,190
02 RIINEASEZ(0IETHR) 56,760 0 56,760
OLIQAIE CTV EXIXIS
43,560,000 43,560
= 21,780
s 10,890




FA I OoNel 1t
M Lol=XEX
&t LI=SIAE &FE 2 2F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,890
OLOIQUREMEINE (CTV LXK
13,200,000 13,200
= 6,600
= 3,300
Al 3,300
LoIF2ESHY T2 23| A& 78,500 0 78,500
& 47,100
Al 31,400
307 glztol & 78,500 0 78,500
== 47,100
Al 31,400
11 AMEISXAIEEE 78,500 0 78,500
OLo=2ESdH T2 29| K&
78,500,000& 78,500
= 47,100
Al 31,400
SN =SKNAIERA 687,832 94,932 592,900
201 2= 1,182 1,152 0
01 At22t2l] 1,182 1,152 0
O=TAE g0 S|
1,152,000& 1,152
202 04l 2,880 2,880
01 =LHAHI 2,880 2,880
OSXAIE H2F8 o 2,880,000& 2,880
401 AIZHIX R0 683,800 90,900 592,900
01 AlZ2H| 665,000 90,000 575,000
OL=SXAE FA - E+SA
50,000,000 50,000
OMISXAIE HHEHES
25,000,000 25,000
Os=FLolls zatd c|2ad
590,000,000 590,000
02 Zcltl 15,000 0 15,000
OgclE9] 15,000,000& 15,000
03 Al 20HHI 3,800 900 2,900
OAIZ20HHI 3,800,000 3,800
S8 HE2e & 771,068 2,731,9%4 1,960,886
= 4,800
Al 766,268
SAANE MSE 24 748,358 812,440 64,082
201 er2 3| 87,558 84,504 3,054
01 AtR2t2|HI 13,000 13,000 0




2A:

3 &l
el 8 ZE2e 3F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORZX=d disH M
100,000& %10 1,000
OgNsE 2t s2=2(2IZ) M
1,000 +2,000& 2,000
ON=ZH =2 10,000,000 10,000
2 S5=24g4l 74,558 71,504 3,054
OSHNSA(SEY) HIIANHA HEZ
16,200,000 16,200
OSHB2(Sete) MIHEHA &
6,000,000& 6,000
O8Il "Al2el 4,356,000 4,3%
OAXOtMAA = 5,082,000& 5,082
OTAI2eIAIAE |XHIE
10,000,000 10,000
OstEd WIEZ+8 25,000,000 25,000
OgHMzE3 CTV et
3,960,000 3,960
OgMsE gy 3,960,000 3,960
307 elztol & 625,000 582,000 43,000
05 212t =S 625,000 582,000 43,000
OgNsd UGS 625,000,000 625,000
401 Al HIZ S OHbI 20,800 130,936 A110,136
01 AlZ2H| 20,000 130,000 110,000
OSHMEA AEE FXAl2e
20,000,000& 20,000
03 Al 20HHI 800 936 A136
OAIE20HHI 800,000 800
802 grat=JIE 15,000 15,000
03 JIEtEtE S S 15,000 15,000
OYHBE =0y a2
15,000,000 15,000
S22 6,710 6,710 0
201 et 3| 750 750
01 At2t2l] 750 750
Osts 32X U= M=
150,000 +5& 750
202 04l 960 960
01 =LHA LI 960 960
OFAAIE 2EXel g8 ol
960,000 960
401 Al HIZ S 0HbI 5,000 5,000
01 AlZ2H| 5,000 5,000
OSSHA E=HAH £ 2=
5,000,000& 5,000
dg S X2 16,000 16,000 0




A QIR oKl
HY: LoI=TE
K

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,800
Al 11,200
301 EtE NS 16,000 16,000 0
= 4,800
Al 11,200
14 DBt 2 a=S 16,000 16,000 0
O=8&d N&A 16,000,000& 16,000
= 4,800
Al 11,200
Zoie!l =X & 29,387,932 25,301,097 4,086,835
= 11,456,143
== 3,528,633
Al 14,403,156
ZOHRI & X 17,949,772 16,493,734 1,456,038
= 10,923,567
=S 1,935,064
Al 5,001,141
ZOoHQId Kl XI& (SXILX2l) 1,191,353 1,191,353 0
= 595,676
= 178,703
Al 416,974
307 gl2to| & 1,191,353 1,191,353 0
= 595,676
= 178,703
Al 416,974
11 AMEISXAEEXS 1,191,353 1,191,353 0
OFHeIL Xl XI& (S XL X2l)
1,191,353,000& 1,191,353
= 595,676
= 178,703
Al 416,974
oL X2 K& (ML ML Rt2l) 739,688 739,688 0
= 369,844
S 110,953
Al 258,891
101 @124H| 739,688 739,688 0
= 369,844
< 110,953
Al 258,891
M ORINZZ2NSE S 739,688 739,688 0
OZOHA LRI X J (ML ML X2l)
739,683,000 739,688
= 369,844




SA I OoNel 1t
Mz Fofel =X SA
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 110,953
Al 258,891
ZOHQI LTI XI& (AIZEHIZ Xtel ) 138,000 138,000 0
= 69,000
< 20,700
Al 48,300
101 @124H| 138,000 138,000 0
= 69,000
== 20,700
Al 48,300
VPEDEEP =R 138,000 138,000 0
ORONAIL T2 K (AIZHLTI2])
138,000,000 138,000
= 69,000
== 20,700
Al 48,300
AI2EZOH QI QHOFAIFA ALY 174,486 174,486 0
= 139,589
s 10,469
Al 24,428
307 @I2t01 & 174,486 174,486 0
= 139,589
= 10,469
Al 24,428
11 AMISXAIEEX 174,486 174,486 0
OAIZTE ORI CHOFAL THA AL
174,486,000 174,486
= 139,589
= 10,469
Al 24,428
dYE SSHL LRI 59,867 54,807 5,060
== 17,960
Al 41,907
307 212+01& 59,867 54,807 5,060
< 17,960
Al 41,907
11 AMEISXAEEES 59,867 54,807 5,060
Odge S XAt
59,867,000& 59,867
= 17,960
Al 41,907
e Ws2IsHE 2 24,550 0 24,550
101 21AH| 4,550 4,550
04 JIZtN2Z2XNSE= 4,550 4,550
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SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 27,378
Al 63,881
01 A2 HSHS(RNEERTH) 304,19% 243,054 61,141
OZM=< (a2 S) X2
304,195,000& 304,195
= 212,936
== 27,378
Al 63,881
Zoelel=Hl K& 28,909 33,100 24191
= 23,128
[ 1,734
Al 4,047
308 AtXIEMSO0IE 28,909 33,100 24191
= 23,128
== 1,734
Al 4,047
11 SI[2S0 e YA AS A 28,909 33,100 24191
O&oelelzdl K& 28,909,000 28,909
= 23,128
= 1,734
Al 4,047
MNASEOHR! MEHl & ZAE X& 1,905 1,905 0
= 953
= 286
Al 666
301 EtE NS 1,905 1,905 0
= 953
= 286
Al 666
01 Al EE A S (2 DEXR) 1,905 1,905 0
OMASEQ el H HAHHl X2
1,905,000 1,905
= 953
= 286
Al 666
AEFOHR! 2|=Hl K& 60,000 50,400 9,600
=S 12,000
Al 48,000
301 EtE NS 60,000 50,400 9,600
< 12,000
Al 48,000
02 AL 2EH LGS (HAAHS, W) 60,000 0 60,000
OaldZoiel 2=l A&
60,000,000 60,000




SN COIFORQI Dt
= Zojel =X s
el HOojelMsor™ X (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 12,000
Al 48,000
LEMEAMEIA IR XA 583,200 503,280 79,920
= 408,240
< 52,488
Al 122,472
308 XXM SOIE 583,200 503,280 79,920
= 408,240
== 52,488
Al 122,472
11 S 2SS & AS AL 583,200 503,280 79,920
OLEHEAMEIA B2 X2
583,200,000 583,200
= 408,240
== 52,488
Al 122,472
SETHEMHIA SHOHALY 215,920 215,920 0
= 56,376
Al 159,544
307 212told 215,920 215,920 0
= 56,376
Al 169,544
11 ABI= XA S E 215,920 215,920 0
SSTHEAHHIA © SHTHAIR
187,920,000 187,920
s 56,376
Al 131,544
OOISHAEARIXIR Y LB MHIA(
Al Z=01) 28,000,000 28,000
LETOHR FAHESAHHIA BIRH K 1,138,605 903,091 235,514
= 797,024
< 102,474
Al 239,107
308 XtXIEMSO0IE 1,138,605 903,091 235,514
= 797,024
== 102,474
Al 239,107
11 S 2SIt & AS AL 1,138,605 903,001 235,514
OLROR FAHEHHIA IR X
1,138,605,000 1,138,605
= 797,024
== 102,474
Al 239,107
FAYE LEHHSY HSBSAHHIA BIRH X2 170,212 161,745 8,467




SN COIFORQI Dt
= Zojel =X s
el HOojelMsor™ X (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 119,149
=S 16,319
Al 35,744
308 AXIHMSO0IA 170,212 161,745 8,467
= 119,149
= 15,319
Al 35,744
11 S 2S0UeZBSHASAIE 170,212 161,745 8,467
OBAE LLTNSY YUSHSAUIA bt
A A& 170,212,000 170,212
= 119,149
= 15,319
Al 35,744
AHEEXE HEH X 8,757 6,613 2,144
= 6,130
== 788
Al 1,839
308 AHXIEMSOIH 8,757 6,613 2,144
= 6,130
= 788
Al 1,839
11 S| 2SS & HASAIE 8,757 6,613 2,144
OdolzeRa b= X
8,757,000& 8,757
= 6,130
= 788
Al 1,839
LI 24X 5,648 3,519 2,129
= 3,94
= 508
Al 1,186
308 XXM SO0IH 5,648 3,519 2,129
= 3,94
== 508
Al 1,186
11 S 2SS & AS AL 5,648 3,519 2,129
Oggdie FR4EX
5,648,000& 5,648
= 3,94
== 508
Al 1,186
LEHR UHS HASHES N 5,000 5,000 0
301 EtE NS 5,000 5,000 0
02 MBI 2HHSFHS(HAANS, XLHE) 5,000 0 5,000
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SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Zofe! EsX3 = FIHIZ 1,314,960 1,021,820 293,140
= 262,992
Al 1,061,968
308 AHXIEMSOIE 1,314,960 1,021,820 293,140
= 262,992
Al 1,051,968
11 S| 2SO0 UeZB XA AIE 1,314,960 1,021,820 293,140
OFNUBENR T XX
1,314,960,000& 1,314,960
== 262,992
Al 1,051,968
HEZ0He! SLHISXIA 6,000 6,000 0
= 4,200
== 540
Al 1,260
301 2= 6,000 6,000 0
= 4,200
= 540
Al 1,260
01 ARRI2HHSHS(SDERTHE) 6,000 6,000 0
OWd &l SLtlE X
6,000,000 6,000
= 4,200
= 540
Al 1,260
oelE NEC=2 SlolHA 20| X 13,250 14,840 21,590
[ 3,312
Al 9,938
301 LELE NS 13,250 14,840 A1,590
S 3,312
Al 9,938
02 A2 XSG (FHAAHS, W) 13,250 0 13,250
OZE N£E=2 SHOIIHA S| K&
13,250,000 13,250
= 3,312
Al 9,938
L=ED RN L 10,565 9,500 1,065
= 8,452
Al 2,113
301 2eEN= 10,565 9,500 1,065
= 8,452
Al 2,113
01 A2 HSHS(RNEERTH) 10,565 9,500 1,065
OExJ|7 W& 10,565,000 10,565




SN COIFORQI Dt
M HOHR X S
Chel: ZOHQlMEOrA X (St &)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
= 8,452
Al 2,113
ZoHel EMA & E&2F 2l XA 15,000 15,000 0
301 LetEEZ 15,000 15,000 0
02 AISIEZ 63 (HAAS, RLTHR) 15,000 0 15,000
Qe X s 2+ ==cldlE XI&
15,000,000 15,000
HSEXI|D| 018 H0oHe! etal=a X& 40,000 40,000
301 LB NZ 30,000 30,000
02 NMBIEZHEGS(HAAS, KLTHA) 30,000 30,000
OEHMH 82018 X 30,000,000 30,000
307 QI2H0| A 10,000 10,000
06 2832 10,000 10,000
OFSEZIII| OIBE0|Q! HiAIL DS I}
2 10,000,000& 10,000
ZOHeIsSXIMEIA gat 10,459,253 7,737,444 2,721,809
= 532,576
& 1,584,848
Al 8,341,829
ZOHQIHOAIL &E 104,231 32,168 72,063
& 11,267
Al 92,964
201 L2 | 3,568 3,568
01 At 22|l 3,568 3,568
OZ NI KSXHEX HMIZ 1,568,000 1,568
OHIME=I7YE & S22 HA
2,000,000 2,000
307 QI2H0| A 52,063 0 52,063
& 11,267
Al 40,7%6
1 ASI=XAIEE X 52,063 0 52,063
OO HOAlE 2B M==ZAL
52,062, 780& 52,063
= 11,267
Al 40,7%
401 Al&HIZ 20| 45,000 25,000 20,000
01 Al&HI 45,000 25,000 20,000
OZONQIBEOANLE SF(SSAE S)
40,000,000& 40,000
Oals?et el 823719 Jhl
1,000,000 504 & 5,000
405 Kot S| 3,600 3,600
01 IR =SFSHI 3,600 3,600
OFeIHoIZ2E 2L 3,600,000& 3,600




2A:

. ZOje =X S8
=Rl ZOHISXIABIA et (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JHI=XAIE =E L JIs2S 430,800 22,916 407,884
201 er23 | 800 2,700 A1,900
2 35234l 800 2,700 1,900
OHMUI=SXAE BB 800,000& 800
401 AIZHIX S0 430,000 20,216 400,784
01 AlZH| 430,000 20,000 410,000
OBMWUI=TAIE SN2
60,000,000 60,000
ONMBOfIES &E Js22
300,000,000 300,000
OM&tLEH ZOHIHHEAIE FHI
70,000,000& 70,000
JOHAXMSIHEAIE JIS2S 2,110,550 0 2,110,550
= 468,244
= 234,122
Al 1,408, 184
401 AIEHIX SO 2,082,250 0 2,082,250
= 454,004
S 227,047
Al 1,401,109
01 Al&H| 2,045,000 0 2,045,000
OBNIKATEAIL A=
1,645,000,000& 1,645,000
= 361,892
< 180,946
Al 1,102,162
OZOOINATIZAIL S5
400,000,000& 400,000
= 92,202
& 46,101
Al 261,697
02 Zeltl 30,000 0 30,000
Ozels9l 30,000,000 30,000
03 Al =2 THHI 7,250 0 7,250
OAl& S THHI 7,250,000 7,250
402 2I2E X201 & 28,300 0 28,300
= 14,150
= 7,075
Al 7,075
02 BIENZASEZ(0IETHR) 28,300 0 28,300
OZOHAXATHEA L HHIE2Z
28,300,000 28,300
= 14,150
= 7,075
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SN COIFORQI Dt
. ZOje =X S8
Rl ZOHASKIAHIA Shat (CHol: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 3,785,332
307 gl2tol & 4,463,967 4,236,886 227,081
=S 728,635
Al 3,735,332
10 MeISXAEHE2EHIEX 4,070,367 3,941,686 128,681
OZ2HeI=X2 2]
2,022,606,000 2,022,606
< 303,391
Al 1,719,215
OZ0IHMI=T2 2|
2,047,761,000 2,047,761
= 307,164
Al 1,740,597
11 ARIEXAIEE X 393,600 295,200 98,400
OROA=TZ SAH
4,0003 »410F x240! 393,600
S 118,080
Al 275,520
402 2I2F X201 & 50,000 50,000
03 2I2+RAETAIS I 50,000 50,000
OZujesx2 Jised 50,000,000 50,000
U F2UES AL 2S 541,181 525,833 15,348
== 81,177
Al 460,004
307 212t01& 541,181 525,833 15,348
[ 81,177
Al 460,004
10 Al2ISTIAIEEE 22X 541,181 525,833 16,348
OBAHNQUFALSAIL 2|
236,781,000 236,781
== 35,517
Al 201,264
OLOI=FAUESHE 24|
304,400,000 304,400
== 45,660
Al 258,740
ool SSHEIE =29 57,268 54,934 2,334
= 11,453
Al 45,815
307 212t01™ 57,268 54,934 2,334
= 11,453
Al 45,815
10 Al SXAAEEHE 22X 57,268 54,934 2,334




2A:

S ZOHel =X S
SH9l: ZOHOIZ XAt (el mg)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
SEETE
57,268,000 57,268
& 11,453
Al 45,815
ZOoHe! JHeI2H H= 543,542 541,461 2,081
& 108,737
Al 434,805
307 QIZt01 A 543,542 541,461 2,081
= 108,737
Al 434,805
10 AtSIS XAl 543,542 541,461 2,081
OZ2istd 23| 542,962,000 542,962
& 108,592
Al 434,370
Ol A
580,000 580
T 145
Al 435
ZOHCIHI | H= 176,713 172,078 4,635
= 26,507
Al 150,206
307 212+01 A 176,713 172,078 4,635
& 26,507
Al 150,206
10 Al2I=XIAl 176,713 172,078 4,635
OZ2Al ZoHel
176,713,000& 176,713
T 26,507
Al 150,206
SSHOCIX & Mt 218,830 216,534 2,2%
= 64,332
T 40,549
Al 113,949
307 2I2+0l™ 218,830 216,534 2,2%
= 64,332
& 40,549
Al 113,949
10 Al2I= XA H2gHIBx 218,830 216,534 2,2%
OZ2E0H
160,830,000& 160,830
= 64,332
& 28,949
Al 67,549




2A:

Bo: Fojel =X S
oelr ZOHRISXIAEIA &y (CHol: &S1)
SA - BE - C9(3H) - KA - BES Ol &t e B2
OZAH AN MEHE 28 I
58,000,000& 58,000
T 11,600
Al 46,400
ZOHRISXIAIE SAL S8 140,040 140,040 0
= 42,012
Al 98,028
307 2I2+01™ 140,040 140,040 0
L= 42,012
Al 98,028
11 AISISXAIEE X 140,040 140,040 0
OZHL! OIZAIE SAL EEXE
91,800,000& 91,800
& 27,540
Al 64,260
OHOe! OISHE SALL S8
22,680,000 22,680
= 6,804
Al 15,876
OFOMHL! HFAIE SAL EEXE
25,560,000 25,560
= 7,668
Al 17,892
Z0pe 'S s Y T2 29 60,000 60,000 0
= 18,000
Al 42,000
307 2Iz2+0l™ 60,000 60,000 0
L= 18,000
Al 42,000
11 AL SXAIEE X 60,000 60,000 0
OFHe! 'S2 s Y 228" 24
60,000,000& 60,000
= 18,000
Al 42,000
ZOHRl =3twa 2 10,000 10,000 0
= 3,000
Al 7,000
307 212t01& 10,000 10,000 0
= 3,000
Al 7,000
11 ASI=SXAIEEE 10,000 10,000 0
O +=stual 23 10,000,000 10,000
= 3,000
Al 7,000




2A:

. ZOje =X S8
=Rl ZOHISXIABIA et (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LEH AIRIEN 2208 29 10,500 10,500 0
= 3,150
Al 7,350
307 el2to| & 10,500 10,500 0
= 3,180
Al 7,350
1 AMISXAIEEXS 10,500 10,500 0
LT AIRIEN 2208 =29
10,500,000& 10,500
== 3,180
Al 7,350
ZOHel THot=X X 978,907 1,069,919 A91,012
= 8,721
Al 970,186
MOt OoHe! dgord X3 694,200 694,200 0
301 EtE N = 694,200 694,200 0
02 A2 A6 (FHAAS, NLWE) 694,200 0 694,200
Ol uSH| 690,000,000 690,000
OSSHM =ees 23
1,200,000& 1,200
OF2A 0 82302 MHEXI=H X
3,000,000& 3,000
ZoHe! Ml X1 241,090 280,090 39,000
201 er2 3| 104,922 23,922 81,000
01 AtR2telHl 104,922 23,922 81,000
OFEOMHIA e EL2H] 20,000,000 20,000
OFojelel & JISeA S+ &
570,000 570
OZMRI=RE ALEE S|
3,352,000 3,352
ORI AFRA YXB U 42
81,000,000 81,000
202 04| 11,400 11,400 0
01 2LHA b 11,400 9,240 2,160
OHUMU=XHSR FHHBI(SRR)
9,240,000 9,240
OFQITBFPARR| AIEE (22
2,160,000& 2,160
301 LEtE N = 18,868 18,868
11 #AIAHIXIZ S 18,868 18,868
OFofelel & J184 HIHEER)
3,000,000 3,000
Odg ZoHel stotS =M &It
3,000,000& 3,000




SA: SOIEOfOI It
M HOel =X S8
Chel: ZOHR! MIHSAI X (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OXEOHe! Jlstial &IHE & =2Hal)
1,300,000& 1,300
OF=2XMEOHCITHE &A 700,000 700
OAIZEO0HC!I EIXIZ0| & A &4
3,000,000 3,000
Og a4 2 MFEXSE =012 XIEXF CHE)
A 1,000,000& 1,000
S0relel & D8N Y U =3HHl &4
1,000,000 1,000
OFZ HAF0O! O{SHOIY AL &4
768,000 768
OB HAFOQ ISHOIS AL &4
1,000,000& 1,000
O&E=XEEC! SXUHE &
1,500,000 1,500
O =ZAEEOHCITHS &A
1,000,000 1,000
OXIHEsE e SXNSEUE &
1,000,000& 1,000
OXHES Mo HE 2 25 &4
600,000 600
307 S1Zto| & 105,900 105,900
10 AISISXAIEEE2IHIEX 33,800 33,800
OZ OIS 29| XI& 33,800
— XXM &OHRIE 3l 5,000,000& 5,000
—AlZH, S0 ES> K& Az 2230, A
A 28,800,000& 28,800
11 AEISAIAEEER 72,100 72,100 0
OZ2FAl o2 H20HE 2 &K
25,000,000& 25,000
OEZHML 0IS22NY
15,000, 000& 15,000
O&Mol= EHs "HESH)| z2d" 29
3,500,000& 3,500
O"EFe} AllLk= XISAIZ2H" HEED)| B2
O 29 4,600,000 4,600
OOl Azr2ts) AE"Ty" 2o
18,000, 000& 18,000
OFZ - AHEOCI ST A WF ALY
3,000,000& 3,000
OFOIA! D= & Ao MWW=
3,000,000 3,000
HEHEOHQ!I SEH AMHIA K& 30,784 82,429 A51,645
& 7,696
Al 23,088
307 21Z2t0| ™ 30,784 82,429 A51,645
& 7,696
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